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1. IR0, ITYIEFHEIY T G@HaT |
IR, I gieaw 4 & @ |
Write answers, in the answer-sheet only.

2. GHTNIR GI TGO, et S |
& @¥a 7 8, a5 a9 JeT % I dep § 8 R

Answer all questions in Sanskrit, unless instructions are given

otherwise.

T Fo797 e GUST: i |

3G J97-73 § AR @ & |

There are four sections in this question paper.

TUg: & JufSare — Fgagay (Tufedie — Taared)

SECTION A (Unseen Reading Comprehension)

e @ FEhde TATCHHAEH (FEha | TaHTcHe oiEH )

SECTION B (Wrifing Skills in Sanskrit)

@us: T qfSAT — S, FEFaaTeere Ti=: 9
(afoerier — ST T G wfEe.ate)

SECTION C (Reading Comprehension and Introduction

to History of Sanskrit Literature)

QUS: | FRISAZN: (D¢ TI ITAZR)
SECTION D (Metres and Figures of Speech)

40+10=50 gT:




49

@vus: & (SECTION A)
HUTSATIT — TG
rafgarer — sraaia=

Unseen Reading Comprehension

HANARGTH FToBega ocal TGaH T F&ha- I ¢

forferfad ST STde! 1 Tea Y Y Sl % I wepd § AR

15

Read the following two passages and answer the given questions in

Sanskrit :

(%) 9w

I

T Gd AHET: | THIEHN GHEEHTE: | Td: U Faqdl STSaasn a
vaTg: fshad weg yaTEH fawd e e aitersa daoeEitn &g s
FOM: | FEAE 99gH, oo wErEdl, TR 99, Rl S
ehrEifo | A1 Fa 5hda e W gee1 9 i | are foRm:
Fd: ? G AN, AEAE HIE:, AAEH SFHME FErhE fgEe
HUTT | Ty HHT A | T SRR heAT | g0 SaTe
3eead |

TIAT:

(%)

()

TSI ITG |

T vIeg § I R |

Answer in one word.

(i) i fow fa=ae 7 deaq ?
(i) e R form: Tfeq ?
QUIETERH 3T |

Ui g B I @R |

Answer in a complete sentence.

SHrgenta FHEr TehEifr 2

FTfcey I |
FTiEE I T |

Answer as directed.
() “fed’ 3fq foramres wqug o 2
(i) ot gf foeomes fows fomm 2
(i) Traaar 3fd veeg & foeiimden o sy 2
(iv) ‘Tae:’ gfa <19 fob yems wqeem 2
3

= x2=1

Ix2=2

1 x4=2
2

P.7.0.
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(@) o sgess:
Sfiea faftmm: awen: smnf | a3 oo waq @da aen: famondy
YR AU WAty | a9 S STEvIehdl Watd | SUSMI, WIS,
FquferT = Ariee STy | AT ST, STHE, SIS, O T
 eIT: | ¥ STeAed auafd, wERrehl Wik Teesfd | e ey

fiofa: | fold s fRmeRd g | T I waerl Waq i
ATefITETE: Woq g6 | Ual fasmiewd wa feman | g weR: wafd
derfy foamar 7 Foffen | e ve i s de wiesfa | g
T JICT: RO | WS RO Ry TR | WS SR
MMeAT UF gF | o AN STaeTrsd S O YO 999 | 9 o
GERS P HN :
qI4T:
(31) THUGH I |
T I&g H I T |
Answer in one word. I1x2=2
() ga=EEr FHerone = sravTear wafd ?
(i) TR spear fob g = 2
(F) qolETeRA I |
oot are | I G |
Answer in a complete sentence. 2x 1=2
g fHamonef &% wfleg 2
(|)  Femfey ITRa |
gy S AR | _
Answer as directed. Ix4=4
() ‘omnfxr’ 3fd foramaee wqug fpy ?
Gi) ‘Shgmam’ sfa 19 6 vems Ty 2
(iii) ‘e’ e T foemuens Ry ?
(iv) ‘eIt sf fommomes foersy fohy 2
(3R) T IS8T Fd IUYh ¥ T&ha oT@d |
T Igeaq % foTg Sugeh Sfider wepa § fafam |
Write a suitable title for this passage in Sanskrit. 2
4
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wWvus: @ (SECTION B)
TEF A TATCHRE T
HEHd U TOATCHS oiEd
Writing Skills in Sanskrit 15

HosuTa: Ireaagd Taical STHIARgal Sl R @ :
HooT & 3fea wga et FrefaRaa e ot g s fafaw

Complete and rewrite the following story, with the help of the words

given in the box below : I1x10=10
o e
Teh: T Yo 9IS amveq Sfeed — () | Yad: 3TMHAA HH
TSvEH qfesd, S, | (id) fopy 378 qai ? quet stEed —
Feaeg (i) . ded w@g s | TS S TR ? dq g
(iv) ¥ | HEIS: (V) Heh: AN | Q7 d9E:
3AEq — T | Wad: 1Y I: ITEER: |: IUia: (vi) | g | 7 T H
(vii) | UERIST: A9 (viid) AIAq | TG
(ix) q: TSI SFEE: () 39 TSI TR |

halac Sl

g, TS, HagH:, TR, degedl, @aEd, e, I !, g, et |

Ted: war e ‘ot s fawem siftger wew Aty wwpdad
o | |

T € 98 gAR e feam” fav W wwpa O ute 9 fafay | :
Write five sentences in Sanskrit describing “Republic Day (T0Td== ﬁaﬁ)”

with the help of the words given in the box below. I1x5=5

b il

1950 a0 o, WHaH, Wehd Efaumy, WeH THiE:, UEIsasREs, W
oy, foswaarier:, duuren:, y=efa sivemn, oy, Ty,

gaifd, It |

5 P.F0.




@vus: T (SECTION C)
TSI — ATFUTH TEhaaTeaed Ui=d: °
qfSais — sraEies Ud @iha Aiiged-ai=a
Reading Comprehension and Introduction
to History of Sanskrit Literature 40+10=50

Ffeiad Tenwl, 9e, ATy 9 ieeal JEayvAT §Ehad I
FrfaRea memer, @ qen AreTTy 1 dgeE U T YAl % I HEha | G

Read the following prose, poetry and drama passages and answer the
given questions in Sanskrit :

($) TETIT:
qal SRV T Eieal  SWRHT FreenTasdeEsEaTar |
TSN Heal TS TRU-ARYM 3G | STEvn e
AT T Fedieh N1 Tk, | aal Tl 31aed — caudsi
T ALl IgYd U9 agUelvid | STEvEey, — T el Iq Fae
Trard qeuaErsanty 3fd |
T
(37) THYH I |

T Wiee # I AR |

1
Answer in one word. S B=1

(i) TS hYT FARYIHT qRiFehig ? )
(i) STEO: T HIE AT ?
(9) YoiEmERH 3 |
quf g1y | IR T |
Answer in a complete sentence. Ix2=2
T SR feb TEGH, 39 ?
(|) FATAEI IR |
TG I T |
Answer as directed. Ixdq=
() ‘U 3t AT sque o 2
(i) ‘wawm 3f0 vew faurs fomy 2
(i) ‘Y’ s o6 faetmuey 3 ey 2

(iv) Ty 3fd 319 o qeHs T ?
6
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(@) u=m

()

JEAEIEIMG hHelas I @ S,
I g a iR Tagd Jrercer Tgy: |
ST qreea fogm F: e TaH,
VIS Waq 9 FI@HT JcgeH: HIg: ||
AT
(31) Teh¥ed I |
T ¥eq H IR AT |
Answer in one word. % x2=1
1) mmm:w:?
(i) WEW wa 5 yfa 39w =39 2
(9) YuiEmERA ITA |
oui are # 3 G |

Answer in a complete sentence. Ix2=2

igaan ser ARG T Sl ?
(@) I A |
Fofaew 3T AT |
Answer as directed. 1 x4=2
G) ‘o sfa 319 1% vems ygey 2
Gi) ‘AeM 3 fosuree fassd forg 2
(iti) Feraded TG [ 2
(iv) ‘ufagar s faadtaug frms sy 2

?@m:

HIFeIT —  d | Afead @ wrar ? TR a1 ey 2

Fq: — AR |

FIGeT —  qd: B @] ?

& — WIEA: RG] qreHi: |

FIGeT — I a1a | HYRaE HAF |

T — qam%amr&n(uﬁmmm)

Foq: — ! FEAR | SwEisw s RIS gl

rﬂtﬁ:@g%@'a HISTAYATSEANN: T Teagfisa: |

7 P.F0.
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AT

(31) THIEH IAG |

T I H I ST |
Answer in one word. Eei=]
@) ughn: % st gz 2 £
(i) ‘erfeq o = 2 3fd w1 g=sia 2 -
(¥) qoiameRH 3 |
ot e i I AR |
Answer in a complete sentence. 2
&a: T 7 ST 2
(|) Fenfacym I |
TG IW T |
Answer as directed. éx 4=
() ‘gréaTmee’ 3fd we fowen 2
(i) ‘orggEd’ 3fq fshamaee sque o ?
(i) ‘germ sfr @1sf & wem SR 2
(iv) ‘I’ 3fa weamue e BRI
yrear i Aerfreen forea |
&gl 1 AT A e Feh fafE |
Match the words with their meanings and re-write the same. Ix4=
ITeql: At 2
(31) e GO L
(@) foremeafa: G &
(@) ommg (i) T
(3) IwRE: | (v) a9 |
TETfEaua sy weAtmfel F%a -
TaTfgd vet & 3R W yeA-fmior Hifse .
Frame questions on the basis of the underlined words : Ix 4=4
(1) T ET-‘\’H':Ia% qaen foym: d: |
(i) T GHU: I |

(it) TET: RIh: FEeT fa9m: Fd: |
(iv) STHTY: 9aq: Yiehd: Hal: |




0

srenferRaaurenen: Free gl HesuTIeEaTIaan $ed :
frfafaa Mt sranef & weqw # o o wsgt S wEmar @ e B qfd

+Hif
Fill in the blanks in the following two explanations with the help of the
words given in the box : 3+3=6
(%) orgal AT q TR U AT |
e Jefyr s, 3 % areHE S
el
e (i) 3 7 wlipdf=, T Gi) T
I (i) ArRM, Tesf< 4 (iv) AT
) 7 waf stefd a (vi). Taf=a |

(@) FEEERfd AsEdHedal SH: |

T I F&d, Alheacgadd ||

G ICIDE

a8 () AqT AR (id) g IR ST
(iii) | aferufd 99 (Qv) Hd: ores: iU 9
V) wfH,d@ i) Td |

bk Sl
HUfd, 1, TH, THRT, THI, IO, =R, amvﬂ%a%
FASAIHAT, TH:, T, THREMT: |

SAIARGA: TeAreRa: 9l Rereamgd % .
frefafaa ST vt & =i § freemt 1 qid hifer

Fill in the blanks in the following prose-order-renderings of the two

1 §
verses : 1 = +] = =3

(3) éi@ﬁﬂfg@mﬁi,aﬁﬁﬁrﬁﬁqﬁmz
fogw wicam™ gaTaRa, WTg gEATE asiyEy ||

- .
wfd: @ _ FeUq euq gal: gaiyEy ueq @

G YREURM G T e e |

9 PALO.
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()

SCHTEHRIFIC e,
- Trfafys s=asaEE |
X Fad Geved b,
A Wa arestd arERal: ||
s
Ael: Icareerrs e fharfafes ) e Y
FaTH FeqTIIH A (i) SEma (i) |

Jefieey 3T |
iy I AfST |

Answer as directed.

(31) g fopamag =1 forga |

()

()

al @ foramg 9T |

Select the subject and the verb. 1+1=2

() W g wEnifasarea: g TR gdeRg R |

(i) TogremMy, srfHemaaly gey weltewdra dgm: 3 |

fomroTag foqa |

ferRwor vg gHT |

Select the adjective. 1+1=2

() HIE: G TEEaE U 9 eearaarshers IR e
EReRELRLInCIER el

(i) ¥ foefmm ey @ gusM swacuca: aefd — ‘amafgan:
g I

refgauithed TEIiEa-aa-Taaer= % TIarH ?

frfafea &t afeai § Tanfea vaam g T fog 73 30 & ?

In the following two lines, for whom are the underlined pronouns
used ? 1+1=2

@ sty R foavaramn fegiq o wmeR drogt wf |
(i) geugeNsT 7 TWHMAE o |

10
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(7)

(39)

(=)

(37)

rufaRaadtesat =g’ qen ‘sTyearTey 3 geA: THEeee faen
forEa - _

fafafa ol § @ o’ don faeE’ Wl % wEEIEE Ug e
fafRau : '

Select and write the synonyms of ‘Shant’ and ‘Vidai’ from the
following lines : 1+1=2

() T Seavd et afagiest |
(i) 99 TS Wmmafarrgmaﬁﬁﬁ?@rﬁ l
F: YT ?
HH o FE w2 ?
Who is saying this to whom ? 1+1=2
() B8 | aE sEyeTeREn: 3 6 iy 2
(i) ‘wrEfEmETEfy g e @
ATARGAT@RHH HEATY T Hreae 714 fored .
Fr=fefiaa oraet & fordt wer e 1 9 fafEeT
Write the name of any one work of each of the following poets : 1x5=5
Fiforgr:, waqfd:, Aftrmede®:, U gy vEEE:,
TivSaU - |
AN TARGI=AHT AGHHT A forEa -
Fr=fefaa et & @l & 9m fafeu
Write the names of the authors of the following works : Ix 5=5
THGHEH:, HETHRAH, SHIGFeRl, JTSToieh-T1, REdeedd |
@vus: ¥ (SECTION D)

BRISAFRL:
T T AAZH
Metres and Figures of Speech ' 20 37T
T 3T |
T % I AT |
Answer the questions. Ix4=4

() ‘T 3fd 9g TR dY: e 91 ?

() ‘orgfy’ 3fd g ®: Mo 2

(i) Sfe=rom ‘GE=afaeis Bafd SHid Fur: ?
(iv) Igmfeshifsa-a< G 3fa vev fermfimam ?

11 _ P.ED.
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C)

(%)

()

(37)

()

renfaftgg-aftm: qydq -

Frefefaa aftamsett =t g Hifvw

Complete the following definitions :

@ 997 I TTfeT ifTereh: |
(i) @ wafes Rrafoft

(i) ¢ ST i1
fafgauea i o= 2

frafafea ufts & P-TT BT R 2

What is the metre in the following line ?

H’Iﬁﬁ-ﬁﬂﬁi@@ﬂ#y@@q:?ﬁ;ﬂ:?
ARGy FEAfwRe Td: I fored

freafafae & @ fordft v o< =1 s fofan .

Write an example of any one of the following metres :
3gY, v |

Frifafadrm srergron aftam: ger:

Frfafaa srergrd it ftammet 1 gof $Hifs :

Complete the definitions of the following figures of speech :

(1) ‘Gcad g WResTHEEd: |
I’

(i) ‘Haq THaE T |
(i) ‘9o STSRITaTaer |’
(iv) ‘AgUehAul ___ ’
Aferiedy weafadee sergRe et forea -

frefafaa 4 @ fel wa srergr =1 sqewm fafe

Write an example of any one of the following figures of speech :

?@I’EI:,WI

ARy =01y &: AT

f=faRea uftrai & S-S 3egr 3

What are the figures of speech in the following lines :

() ‘e T@g qEenf add arEe e |

(i) “mafSreEicmE: Hisf we: aggatd

(ili) ‘SR Hveshita qiEdd |’
' 12

Ix3=3

2x 1=2

Ix4=4

Ix3=3

ax 1=3
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